Sr

10

1"

Questions

ap e oMl Al S5 S5

LBl S e 5 i i,

0l il 058 5 5 S

I 0aS Gm Gi S e o

el s S5

s S e Sl e Jd S Sha,

=Y 5 e S (Gas s 3 5ama 1) e,

i DB ol s (S el

d&\ﬁj&uls‘sh)udwuf_

"Bl o) S taaksd,

Answers Choice

A LI5S aka

B. 2 S £ skeSo

C. A S =K gahe € (K4
D. & S e

A, e 15
. (51:‘ ‘il‘ﬁj
JERERIN
B el.é

2 S

s lSal Sgod
S Al S o
2% e >

s S S
oy S lie
s (S GO )
s S S Je

2 Ul
BEERN
RO
xS ds

GOl ) e
‘5.\Lﬂ &K

=S oadlad
GBS sl

1910
1911
1912
1913

e il S
= eli s
sl S
e Sk S

1965
1967
1966
1964

Jessas

Jus o8
s o
Jhs i

s
L
C. &5
D. ¢

> DOWr DOUP UO®P U0®P UOWP U0®P U0T> D0UP 0O



